Q3% )P Cucle Monkey
I

Monlieq Bone 16Omm / 1I80mm

info@cyclemonkey.com www.cyclemonkey.com Tel. 001-(0)510-868-1777

Monkey Bone Manual 21022012

Thank you for purchasing a Monkey Bone rear disc brake
adapter. The Monkey Bone offers a simple method of
anchoring the axle of the Rohloff SPEEDHUB 500/14 to a
frame through the disc brake mount. In order to use the
Monkey Bone, your SPEEDHUB 500/14 will need an
OEM2 axle plate, your frame must have an International
Standard disc brake interface, and your disc brake caliper
must have a Postmount interface. The Monkey Bone is
not compatible with IS direct-mount disc brake calipers
or frames with Postmount disc brake interface.

Required Tools:
¢ 5mm Allen wrench
e Torque wrench
*  T20 Torx wrench

Required Parts:

e Frame with IS51 disc mount interface

e Disc brake caliper with Postmount interface

. Rohloff SPEEDHUB 500/15 with OEM2 axle plate

¢ Monkey Bone

e 2x M6x16 bolts (sold separately; typically
included with disc brake caliper)

e 2x M6x18-20 bolts (sold separately; often
included with disc brake caliper)

Identifying Features

Post Mount Brake
Cadliper Interface

International Standard
Frame Interface

Rotor size marked
on rear post

Cutout for Rohloff
OEM?2 Axle Plate

Installation Instructions

1. Ensure that you have the Monkey Bone that is appropriate
for your disc rotor diameter (160mm or 180mm; 203mm
rotors can be used with 180mm Monkey Bone and spacers
(sold separately))

2. Attach the Monkey Bone to the frame using two M6x18-20
bolts. Ensure that slot for OEM2 axle plate faces the
dropout. Tighten bolts to a torque of 6 N-m/51 in-lbs.

3. Connect disc brake caliper to Monkey Bone using two
M6x16 bolts. Leave bolts loose enough that caliper can
slide side to side.

4. Install wheel into dropout taking care to align slot in end of
OEM?2 axle plate with cutout in Monkey Bone and disc rotor
between brake pads.

5. Check position of EX shift arm with OEM2 axle plate
engaged with slot in Monkey Bone; reposition axle plate as
needed for desired cable routing using T20 Torx wrench
(see Rohloff owners manual). Tighten axle plate screws to a
torque of 3N-m/25 in-lbs.

6. Fully seat axle in dropout before tightening quick-release
lever or axle nuts. Threaded axle nut torque: 35 N-m/310
in-lbs; Pitlock or bolt-on skewer torque: 7 N-m/60 in-lbs.

7. Follow brake manufacturer’s recommendation for setting
brake caliper position. Tighten brake caliper bolts to a
torque of 6 N-m/51 in-lbs.

Assembly Views

Postmount Brake
Cadliper Interface

Méx16 Bolt

International Standard @
Frame Interface

N
R \>
eSS
Rohloff OEM2
Axle Plate

2x Méx16
6N-m/51in-lb

2x Méx18-20
6N-m/51in-Ib

CAUTION:

Use of the Monkey Bone with some frame geometry can result in the
wheel being pulled out of the dropout while pedalling due to the
forces exerted by the Rohloff SPEEDHUB 500/14 onto the frame.
When the anchoring point of the OEM2 axle plate is located in front
of a line parallel to the dropout slot, there is a component of the
reaction force in the lowest gears that tends to push the axle down
and out of the slot. Per Rohloff’'s recommendation, the Monkey
Bone and OEM?2 axle plate combination are not recommended for
use on frames with such geometry (see page 30 of the Rohloff
owner’s manual for more info).

Use of the Monkey Bone and OEM2 axle plate is entirely at the user’s
own risk. The forces applied to the disc brake mount by the Rohloff
SPEEDHUB 500/14 can damage some frames. Please contact your
frame manufacturer to determine whether this setup is appropriate
for your frame and whether it affects your frame warranty.

Recommended Line parallel to
dropout slot

OEM2 Axle Plate
anchoring point
behind line

Line parallel to
dropout slot

Not recommended ‘\/
Reaction force L& |
in Iowlest gears OEM?2 Axle Plate

Anchoring Point |

in front of line /

Not recommended

Reaction force
in lowest gears




@ge chle Monl{eq

Monlieq Bone 16Omm / 1I80mm

info@cyclemonkey.com www.cyclemonkey.com Tel. 001-(0)510-868-1777

Monkey Bone Manual 21022012

Danke das Sie sich flr einen Monkey Bone Postmount
Adapter entschieden haben. Der Monkey Bone ist ein
Adapter, um das Drehmoment fiir die Rohloff SPEEDHUB
500/14 direkt auf den Rahmen abzuleiten. Um den Monkey
Bone nutzen zu kdénnen, brauchen sie eine SPEEDHUB
500/14 ausgestattet mit einer OEM2 Achsplatte, einen
Rahmen mit International Standard (IS) flr
Scheibenbremsaufnahme sowie einen Postmount
Scheibenbremssattel (PM). Der Monkey Bone ist nicht
kompatible mit IS Bremsesattel oder Rahmen mit
integrierter/direkter Postmountaufnahme.

Bendtigte Werkzeuge:
e -5mm Innensechskantschlissel
o -Drehmomentschlissel
o -TX20 Schlussel

Bendtigte Teile:

o -Fahrradrahmen mit IS Scheibenbremsbefestigung

e -Scheibenbremssattel fiir Postmountbefestigung

¢ -Rohloff SPEEDHUB 500/14 mit OEM2 Achsplatte

¢ -Monkey Bone fiir 160mm oder 180mm
Bremsscheibe

o -2x M6x 16mm Schrauben (regular im
Lieferumfang der Bremsanlage enthalten)

o -2x M6x 18mm bis 20mm Schrauben (regulér im
Lieferumfang der Bremseanlage enthalten)

Merkmale: Postmount

Aufnahme fur
\ Bremssattel

/ \\ N\ \
L AN
IS Befestigung \\~ < rf&\\)
am Rahmen T \JM

Markierung
@& Bremsscheibe

Aussparung fir
OEMZ2 Achsplatte

Montage

1.

Kontrollieren Sie die Version des Monkey Bone fir die
entsprechende Bremsscheibe (160mm oder 180mm), 203mm
Bremsscheiben kdnnen mit dem 180mm Monkey Bone sowie
entsprechenden Distanzscheiben verwendet werden.

Den passenden Monkey Bone am Fahrradrahmen mit den zwei

M6x 18mm-20mm Schrauben befestigen (Drehmoment 6Nm).

PM Bremssattel mit zwei M6x 16mm Schrauben auf den
Monkey Bone montieren. Lassen Sie die Schrauben vorerst
locker, um die Bremse spater einstellen zu knnen.

Setzen sie das Laufrad so in den Fahrradrahmen ein, daB die
OEM2 Achsplatte komplett in die Aussparung im dem Monkey
Bone greift und der Bremsscheibe korrekt und schleiffrei
zwischen den beiden Bremskl&tzen sitzt.

Kontrollieren Sie die Zugverlegung ggf. mul§ die
Achsplattenposition verandert (TX20 Schlissel) werden, um
eine optimale Zugverlegung mit moglichst wenig Bégen zu
erreichen — siehe Rohloff SPEEDHUB 500/14 Handbuch
(Drehmoment Achsplattenschrauben 3Nm).

Laufrad auf korrekten Sitz im Ausfallende priifen, sowie
richtiges Drehmoment der Achsbefestigung (TS Achsen max.
30Nm - CC Achsen max. 7Nm) beachten.

Fur korrekte Einstellung/Montage des Bremssattels bitte die
Herstellerangaben des Bremsenherstellers befolgen.
Befestigungsschrauben mit 6Nm montieren.

Montage Ansicht

Rahmenbefestigung
Internationaler Standard

Befestigungsschrauben
M6 x 20mm

\\ Befestigung
b PM Bremssattel
Befestigungs- X\
schrauben N
%
§

M6 x 18mm

Rohloff OEMZ
Achsplatte

Achtung:
Der Monkey Bone darf nicht an Rahmen verwendet werden wo sich der

Befestigungspunkt der Bremsaufnahme (IS 2000) vor der parallelen/
senkrechten Linie durch die Achse befindet.

In den niedrigen/kleinen Gange der SPEEDHUB 500/14 wirken sehr hohe
Drehmomente (bis zu 98% der Uber die Kurbel eingeleiteten Kraft) die
moglicherweise dazu fiihren konnen, dall die Achse aus dem
Ausfallende gedreht werden konnte.

Die OEM2 Montage ist nur an Fahrradrahmen erlaubt, die vom
Rahmenhersteller dafiir freigegeben wurden. Ohne Freigabe des

Rahmenherstellers erfolgt der Einsatz dieser Montagevariante auf eigene
Gefahr.

Zuldssige Montage

Drehmomentin f=
1. bis 10. Gang g

Nicht zuléssige Montage

Linie parallel zum Schlitz
im Ausfallende

!
!
/ B
’/
| Abstittzpunkt fr OEM2

| Achsplatte hinter der

parallelen Linie

Linie parallel
zum Schlitz
im Ausfallende|
Montage so
nicht empfohlen

Abstiitzpunkt OEM2
Achsplatte vor paralleler Linie
~.

Drehmoment im
1. bis 10. Gang




